
4

1

3

2

5

NOTES:

1. INTERPRET DRAWING PER (Y14.5)
2. MAXIMUM BEND RADIUS .03
3. ALL BENDS ARE 90 DEGREES UNLESS OTHERWISE SPECIFIED.
4. BREAK ALL SHARP EDGES.

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

01 REVISED UPDATE DRAWING 7/11/17 RD

ITEM NO. QTY. PART NUMBER REV DESCRIPTION
1 1 4100-073-241-XX 01 FLOOR PLATE WELDMENT
2 2 0450-094-272-7X HEX PARTIALLY THREADED M10X1.5X45

3 4 198X-588-700-59 WASHER   M10 ( .418 ID ) X ( .777 OD ) X ( .079 THK )

4 2 1070-094-016-6X NYLON INSERT HEX LOCK NUT (M10x1.5x.394) DIN 985

5 4 0421-079-182-CX SCREW FLAT 90 DEGREES HEX SOCKET (M8 x 1.25 x 25)

D

C

B

A
A

B

CAD GENERATED DRAWING,
DO  NOT  MANUALLY  UPDATE

SIZE DWG.  NO.

B
SHEET 1 OF 1

REV.

DATE:

ACDRAWN BY

03/21/17
RESP ENG

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
FRACTIONS    DECIMALS    ANGLES

1/32            .X  .02        1/2

.XXX  .005

MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

12345678

8 7 6 5 4 3 2 1
THE  INFORMATION  CONTAINED  IN  THIS  DRAWING  IS  THE  SOLE  PROPERTY  OF
PREMIER MOUNT DIVISION OF< PMPI >  ANY  REPRODUCTION  IN  PART  OR  WHOLE  WITHOUT
THE  WRITTEN  PERMISSION  OF PREMIER MOUNT DIVISION OF <PMPI >  IS  PROHIBITED.

01

.XX  .01

SEE DRAWINGS
APPROVAL   LEN DOZIER

FLOOR MOUNT PLATE ASSEMBLY

SEE NOTES:

“CON
FIDENT

IAL”

MIKE BOUISSIERE

1:4SCALE:

SYM-UR-FFA
REFERENCE

WEIGHT 2.40

NOTE: ALL DIMENSIONS ARE FOR FABRICATION ASSY AND 
VERIFICATION ONLY. GEOMETRY IS CONTROLLED AND MAINTAINED 
BY CAD FILE.


	Sheet1
	Drawing View2
	Drawing View3


